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Q.1 Bg3MEIH, L, M, R, T auTV & 3icht Y gor=i1 AY 1t &1 R & ik had aR sl A fdm g1 L &
3feh H a1 V &)1 & 1fdes g1 M o sieh L § iflres & uRg M & 3ieh 31frera =8l 81 Fafaf@a &
Q I GT YA & TS 87

Ans o 1. M Tt H & sich gaE R
< 2. T & oich e &
5 3. H & dih V & sient & aifeh g1 gehal @
X A4RFIHEMY ARHRRG T AR

Question ID : 99836742462 ]

GHMER, Afgd1, g&9

Ans

@

Bler>

r 3

x:|(OD

Q.2 ag v gy St D g g ot & ffa & Heiy o 9 Reuor wwar gl

Question ID : 99836742468

Q.3 faha= sremer visah &7
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Ans x1.10
211
5039
27

Question ID : 99836742469 ]

Q.4 & wht enepfar & fove=t roger &2

Ans  of 1 14
5215
X 3.16
K417

Question ID : 99836742474

Q.5 Ffafea s Ry 7y e A @ Hafda e gm o1 gfgl
B Thed 1 ?
Ans X' 1 @y ol
X 2. o - e
o 3. 78 srearat
p R

Question ID : 99836742459 ]

Q.6 Ueh fafAre shis wmem &, ‘PAIN’ aht ‘42’ for@T SI1a 8, ‘GOMT’ &l *57' forat SiTaT @1 39 ahis urer &
‘TORN'’ <R hi< T &2

Ans X" 1 65
5 2,67
K371
W 469

Question ID : 99836742460

Q.7 I IR a2 fi ok 3@ <1 &1 9 amATae {2 A 120° gHar @1 98 YA: aad g2 | 340°
AT 81 I8 e gfonad fkam & 220° guar &1 ag o« fore fam fir sk T @ @2

Ans X1 ud
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o 2 zf@urgd
X 3.z

p s

Question ID : 99836742470

Q.8 fFm=fafaa us d & 7€ sjmen d @ g i 719 ffSq
13,32, 7,84, 115, 152
Ans X' 1 49
K 2,44
o 3.55
X 4.65

Question ID : 99836742466 ]

Q.9 U 3geRd o wam g, o 9 uah ug g 81 Ry g el | @ ag w8t fawea gfag, sit
STIshH i ORI

RMN, VRH, ZWB, DBV, ?
Ans X" 1 HIQ

25 2.k6Q

of 3.HGP

25 4.HP

Question ID : 99836742455

Q.10 af ge gUoT &l AB 3T UR 3@ SI1G, af & 7€ IR epfaal @ @i & simepfar wsr smepfar i
g wfafda gnfi?

A=tteseeeey B

Ans

K2

F

HEEE

Question ID : 99836742473
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Q.11 f=faf@e us & Ry g el d & faww 2ree @ gAgl
Ans X 1. Rifthege
25 2. s

o 3. srmar

K 4 R

Question ID : 99836742457

Q.12 f=fafa uer d, Ry 1o Rt 3 @ fww engpfa @&t gfAg)

Ans o
gt
o
W2
o
X 3. o &
0
54

Question ID : 99836742472 J

Q.13 i fRw 7g usr & FUA 3R I a8 I HYE W sl Fo fFend g g &1 Ry g
HYAT ) TE AR, TR ITH G A a2l @ fRan g a9t fAserd g ok ik fRuffRa &1 s
g g = & freend, g g sl & s R g &1

FHYA:

L.FBR MEI
I.FS M, KgI

. hE K, G g &l
fArsen:
.35 G, K &1
Il. RS K, RIS &1
. &3 M,REI

Ans 1 goft e |, 1| &R 11l SERoT A §
25 2. et P 11 SRl ol @
of 3. ST s | 11 s e &
25 4T ey |, 1 3R 111 SR aRa &

Question ID : 99836742465

Q.14 A Ry g ust o FHuA 3R I a8 I Y W snula Fo e Ry g &1 Ry g
HYHN i TE AR, T1g SR AT 719 a2t 9 fR=man g it Ay o ok Rk RuffRa &3
g g wi= @ fFreend, g 7g Sal & SR wR giha &

HY:
LT, LA 81
I.FSR,LEI

farseptS:
LeEL, T &l
Il.FBR, T &I
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Ans Jmarctaﬁwuﬂaﬁﬂwaﬂm%
5 2. et e 11 SEROT oAl @
2K 3. & s | e 11 SrgeRoT ad &
25 4,73 e | 9o 1| SR R &

Question ID : 99836742464

Q.15 R, TR 16 fh.+f. sfAur F 31 LR 4 fh.ft. TR 1K, P & 9 fh.#ft. uffiw @1 G, K& 7 k.. 3=
F2IL GO 21 . gdd @1 T, L@ el @ aur P L & fhe fRem & &2

Ans X 1.v165 fnt, SR g
o 2. 13 5, <faor ufgm
25 3. 13 e, SR d
75 4.v165 fraft, af@or ufgm

Question ID : 99836742471

Q.16 af¥ PARENT &} RZTDPS & &4 & aif3d farar e &, at TRUNK &Y
forar sTaT 21

Ans  of 1 vQWwMM

X 2.STTPJ

Fwud Fifea

< 3. vQWMN
75 4.STWPY

Question ID : 99836742463 ]

Q.17 uig a=ga3ii L, M, P, R 9T T hl Geh o SHUR Qeh 3T 1T & (S T8l M s sha A @) IR, T & Steh
IWREAWMP FIF R I FE i agP F RIS T T 1L, SmEAft gIMamR S
Ay fohasit awqy vt wft g2

Ans x1_gqu
K2 dm
a
X 2w

Question ID : 99836742461

Q.18 fam=foifae usr & Ry 71g el & & usr &g (?) & ¥ R o1+ @<l E&n &l gHg)

7 | e 12 (312
13|14 19 | 513
le| & (1| 2

Ans 1324
o 2 264
/X 3.284
5 4,244

Question ID : 99836742467

Q.19 F=faf@a wu d Ry mg Rt & @ dafia srart &t gl

RAP : QYO :: GOM : ?
Ans X1 ENL
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25 2. FNL
o 3. FML
254 EML

Question ID : 99836742458

Q.20 U 3rIshH fam wan g, e @ ues ug erd g1 g g et A @ 39 ea ug ot glgl

RABT, WGYP, BMVL, GSSH, LYPC
Ans X' 1 WGYP

/X 2.GSSH
25 3.BMVL
o 4.LvPC

Question ID : 99836742456 ]

Section : General Awareness

Q.1 =1 & forg 3fRa ofik uifksife gra (Tw. R oY) Rruffa o wwa Fafaf@a § @ &9 3 ara
'Y AT R geur st (T ) & grrae o §?

1. IuMthISH i 3 gea o= i+ i SussEr
II. g o wR 1 & Ieurfea i+t @) i+ Ieureeht gRT S e 81

NI 72 & <fi=f Fr Reradh
IV. derfetren trrett ofiR it aqgoit it Preral Y areT= wfRy @ SeTaeH Bt aToRdt
Ans X1 | l1Ftil
25 2.0, nar v
W 3 L
K 4 a v

Question ID : 99836742477

Q.2 wAfFa A o Fafaf@a d @ sl o 82

|. S¥hR = uTd 9ot T
Il. TRePR A fAQ sf|
IIl. ¥R g1 Q 7 o Y aget @ wfter|

Ans X" 1 | qurlll
25 2 1@
o 3@
25 4@

Question ID : 99836742478

Q.3 HETAU WRd 2enie™l & wed faaRa g1
Ans  off 1 68°7Equ97°25€

75 2.48°7Equ1 77°25E
5 3.78°7E a1 107°25°E

/5 4.58°7Eau87°25EF

Question ID : 99836742482

Q.4 WRA-fhfe deuf Tt gorge o= & forg fRfered=t mifderzor grr ARl arRent & feg s
Tt Geliwd G '©R ATh Sedd dso A ford gunfaa forar mar @2

Ans
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PRI

5 2. g Rig

W 3. 9@ g TR s
25 4.3 Y e

Question ID : 99836742490

Q.5 He Si9 hfRad-IaRY Agida YRd & fora Isa & w=mar Sian &2
Ans x ‘|.qu-|'§

W 2 oRE

25 3. R

K 4 mEmm

Question ID : 99836742475

Q.6 &k A & ar & F=fafEa § @ FF-u1 py= Tea 82

Ans X 1. fordt & Fredt el R dhepR orfeieper 819 & aRion 1t i 9k gt g dhferrm e ot By
e & Al 31

25 2. upf F emHdR R sTEe # el au AR g &
J3.n—smﬁ@ﬁwam:mﬁsﬁa°r%|
4 g R e d R R @A R

Question ID : 99836742484

Q.7 Fr=fafeEa # 9 fra ahfta gea-wsa 6t S Tea o @ A @rdt 82
Ans X 1. aerdiuag - dwer

W 2 A IR

X 3. - o

5 4. wmaoht - qgRTY

Question ID : 99836742476

Q.8 Ygeusfia-are & hella ol H Het & [ Ay e H@i1e+ (S, gd.9) & mfaf@a d @
RI-HT IUHIUT Al foRaT &2

Ans  off 1 AwaRe

% 2. SECURE

5 3.HELP
75 4 AMR

Question ID : 99836742488

Q.9 Ucdl & MR & IR & FAEfaf@a & 9 s a1 FyT Tt 21

1. {39 TRt & yEant sgToT TE & 9t SR AT UTH 99T dgerd! o
Il. TRT SATFRA ATATRAT & Teh IS <hl ATH ATI

Ans  of 1 | qor i G
p R S
253 el
5 4 Fad |

Question ID : 99836742487
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Ans

247

Q.10 =T uguT & fAg gfar Y ugelt I R yoneft ___ gR1 3= fRar mar @1

250 1. sifea
X 2. greds
/X 3.7 Rt
f 4 o
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Question ID : 99836742489

Ans

Q.11 RIS IR HE} & HUTEH HiF & AL Aar &2

2512 SR, e
p VR R

£< 3. Tiurer g e
W 4. s iR R

Question ID : 99836742485

Ans

Q.12 fA=fef@a d @ fore ae & fguzmTuge u=HTIRaT &6 87

P S
o 2 dfrm
75 3. sifefter
X 4.7

Question ID : 99836742479

Ans

Q.13 &I FTESIsaiareeh UTeR wie Frafaiad d @ =-wf 7d & ara g1 gen 82

1 e
X 2. Reyg &
X 3. Femad
p R

Question ID : 99836742483

Ans

Q.14 2019 F1 FAfea= ai o SR ST T AT

X 1. dafemm R
W 2. gfa ¥
X 3. ieier Geaa
25 4. afShn O

Question ID : 99836742493

Ans

5 1. argeRe 32
o 2 s 19
75 3. argee 21
25 4. e 15

Q.15 fA=faf@a d @ 19 |1 g STUR Tarfea ®U & 31585 358 & dgd [Awifad gl ST § S WRa
& AEufa ZRT AL STUTARTe i aivon H St &2

Question ID : 99836742491

Ans

Q.16 2026 Mt siteiftes Y Aear _____ &

F R
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£ 2. e
W 3.

75 4 AR

Question ID : 99836742494

Q.17 fA=faf@a & @ @9 a1 Saur=es uraa fafeer dfaums @ urda @faum grr sur foar mn
UT?

Ans X' 1 =qifies gRraie @ Rigid
25 2. e & qEg e AR &1 @
W 3 sodn RdwiER
X 4 R grr e sl

Question ID : 99836742492 ]

Q.18 Fr=fafa & @ = a1 urgpfie wid-sra H S 1w T8 d A @t 82
Ans X" 1 TR - Rifgen st

75 2. gl - réfep o

25 3. et - Qefifeen ot

W 4 8 a1 - sifedfres ot

Question ID : 99836742481

Q.19 et & fAuTer & a1g wRef srigle Qe fraT mar an S sty F ST TAR A FwU
H ST ST ATl

Ans X 1. e sifete
X 2. 3= 9Rd Sfieier
W 3. R seiem
p R

Question ID : 99836742486

Q.20 _____ 9 aifda vl &Y genfaal &) e & arey af 1 I3T=R &gl Srer 21
Ans  of 1 st

& 2. o

25 3. RS

5 4. deiterger

Question ID : 99836742480 ]

Section : Arithmetic Ability

Q.1 YR A & 32 FiRTal o1 7T Jea 992 TuA &1 IR B Y 96 ASHl o1 37T Jd 3264 IUA &1 UhR
B &} e Felf auT uehR B Y Gk A1 & fasha g o1 Al 132 w93 &1 UahR B &Y A<l & b S
TR AT AT @19 50 ufazrd &1 afk v B R g it o fasha g, uahR A fY g geff &
frsra Iea & 9w §, Y uehR A i 36 HIRTTT & =t uR R wveT ure ghm?

Ans X' 1 1200303
X 2.2400 3ud
o 3.1800 7w
5 4.1600 353
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l Question ID : 99836742503 J

Q.2 4600 T Fi geh AFA uR 9 T & forg wre fFar man AreRYT =TS 4968 FUA &1 =aTeT it aiftfen
R AT g?

Ans 1 20 ufdera
X 2. 15 ufara
25 3. 18wl
o 4 129fw@

Question ID : 99836742506 ]

Q.3 Ueh §R T G ITch UR & T 1 SIhATUTAT &1 Goh Afwh A Tl G ag gRIA sl #6: 8
111 & AT H & 7T 3R 39 aoig & 39 88,880 Fud Fi g1 gF1 R 1 arafares gew @ Uur?

Ans X" 1.1,17,500 0@
25 2,147,500 0@
#< 3.1,07,600 35
o 4.1,37,500 o

Question ID : 99836742505

Q.4
31 3 7 16—6x243
R A=2x2 gt gy qurp=10T0%213 A B #7 T W A2
10 10 5 39 _Ava

Ans ' 1.19/17

& 2.37/23
75 3.63/40
424117

Question ID : 99836742496 ]

Q.5 fA=fafaad @ o= a1 ged g18?

1.3/7
Il.6/15
. 9/23
IV. 12/31

Ans X" 1.9/23
25 2.12/31
W 337
& 4.6/15

Question ID : 99836742498

Q.6 R fear war @ R 5 fafa urfdh st @ wRi i S ot gaafar 21

800 -
700 - $70
600 540

500 - 420

400
300
200
100 -

T00

400

FRT 1 FE

P1 P2 P3 P4 PS
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uifdhn & | @St sitea FRT i wear o &2
Ans &1 549
25 2.550
of 3.546
75 4.545

Question ID : 99836742513

Q.7 A& 7 MifcrwT Uh gHHER ZRT TtdTg & fAfva AT R 39 g ) Y T o g2far g1

fy |
HEAT
D1 44
D2 48
D3 60
D4 62
D5 6o
D6 Th

D2 &1 & &= 71q R i Wi a1 D5 i1 F & 71 e it s € o srgua 87
Ans X 1.26:35

5 2.24:35
03.11:8
o 4.8:11

Question ID : 99836742512

Q8 TS T HT FEEE, SES g S 8 : 5 : 3 F e F §| IR g F;oFw o s e

3950 W2 & O T @ IhSE w4 22

2 1. 12000 ®HT3
X 2. 21000 9.7
v 3 15000 B.H3
X 4. 18000 H.HT3

Ans

Question ID : 99836742510 ]

Q.9 U ST 1R 15 ach Gt uTepiares S&anait o1 O el &, gTeiifeh ag Ueh T &t &t IR Sl
a1 @ g arg @ 9T 134 8 SITaT 81 98 1 It e i &t IR Sits 3ar @2

Ans ?(1-8
o 214
& 3.10
5 415

Question ID : 99836742495

Q.10 U faerera & o o 3@ heaTiRal dhl el Swear 3400 g1 39 frenmera d srearues, ToRTt aur
ARl T A & Al TuRTE qUT areR e wHATRET & 55 UfaLrd §, @t sreaTuehl S |,
T AT IURTRA] hl T & i @ fora=t ufaera wa 82

Ans X" 1.22.22 gfivE
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25 2.11.11 vl
W 3. 1818 v
25 4.9.00 wfara

Question ID : 99836742501

Q.11 9400 ¥Ud i A, B 9T C # 39 UehR dier 74T ¢ foh A & = o1 3 A1 B & @ & 4 7711 & aRIeR
& 51t C o f2% & 5 71 & sR1eR 81 B o1 fg=an foha 82

Ans X" 14000 3ud
% 2.1000 35
75 3.5000 37
W 43000 7@

Question ID : 99836742504

Q.12 af¥ 547A, 6 @ favursy &, Y A &1 |19 T 82
Ans x 1.3

& 2.6

W32

X 47

Question ID : 99836742499 ]

Q.13 Teh 99 20 foh. . /€ Y uRfNe nfd & T T MR hedl & 9T 3T<h! i & ucder s & 10
5.+, /eier Y gfg gt &1 200 fr.ft. H gt a7 FA & forg ag foram w2 Sfi?

Ans X1 1262
K27
K 3108
o 45

Question ID : 99836742508 ]

Q.14 T 300 Hiex ot TSI Geh 500 Hiex &7 Gl hl UR & # 8 Hehvs Al &1 Geh 600 Hiex orvat
el ol UR et J IS fohan s oft?

Ans & 1.7 dgug
o 2. 9@
/X 3.10 eve
X 4.8

Question ID : 99836742507

Q.15 Yok TFIgAThR Se hi Hars 56 V. 4. &1 S T Geh TR 94 o ST+ ol SRIAT & foeeht
e 198 |.4#1. 81 3o & SnuR Fit Bar o 82

Ans X 1445371
W 2.207 @
5 3.355@
25 4.301 @,

Question ID : 99836742511

Q.16 Tk shust #, et speraniRal # § 60 ufdera afgend & aur 9w gey g1 15 ufaera afgend ege R &
&1 2MEX R & gl Y T, et shelaiRal & 16 ufaierd & sR1eR g1 9 499 ol gk R @ Tl g, 3
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wfgarsit & forea= ufasra & Sit R R A 82
Ans X 1 313.33 ufdRd
5 2.366.66 Hfr
o 3.266.66 ufara
25 4.233.33 ufeer

Question ID : 99836742502 J

Q.17 24 BT <hl <hetT A oht 3iEd 9R 60 fo5.71. 1 32 BT <Y heaT B <hr 3fted wR 75 foh.am. 81341
TSl T TY<h T YR T §?

Ans  off 1 6857 Rra.
/X 2.59.57 .
/< 3.64.32
5 4.69.53 R,

Question ID : 99836742500

Q.18 3ifad, A &1 5 T[T FRIFHA & dUT THAG Yeh R il AT | 120 R 77 d OR1 = FehelT 1
Afga aur A et 9= o @t fRaa R & qR1 o= wana 82

Ans  of 1 25f
X 2,28
K 3.24R
< 4.30 A

Question ID : 99836742509

Q.19 = Rz mar ¥ o ges R | 5 fafw= auf & forg auf i #mm (A F) @t qrfar 81

20 : 70 75

160

e @1 AT (A &
g =

0 T T T T 1
¥l ¥2 ¥3 Y4 Y5

g

Y2 af & g€ auf &t 7 Y4 af A g€ auf H amn @ freet afawa w982
Ans X" 1.10.66 ufazid
o 2. 14.66 vfasra
/< 3.16.8 vl
5 4.12.66 wfaa

Question ID : 99836742514

Q.20 3+[(8—5]+[(4—2]+[2+%]”> T AT FAT 27

Ans  of 1 13/17

5 2.68/13
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75 3.13/68
& 4.17/13
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Question ID : 99836742497

Section : General English

Q.1 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

Itis a pleasure (1)/ to meet a (2)/ cheerful persons (3)/ No error (4)
Ans X' 1 Itis a pleasure

x 2. No error
f 3. cheerful persons

x 4.to meet a

Question ID : 99836742516

Q.2 Improve the bracketed part of the sentence. If there is No improvement, choose No
improvement.

The party starts (for) 8:00 pm.
Ans x 1.0n
X 2. No improvement
( 3. at
25 4in

Question ID : 99836742517

Q.3 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans " 1 Acheive
f 2. Beginning
X 3. Beleive
x 4. Recieve

Question ID : 99836742525

Q.4 Find the part of the given sentence that has an error in it. If there is no error, choose ‘No
error’.

She has (1)/ not written the (2)/ message yet (3)/ No error (4)
Ans X" 1 not written the

X 2. message yet

J 3. No error

X 4. She has

Question ID : 99836742515

Q.5 Choose the word that can substitute the given sentence.

A series of stars.
Ans X" 1 Curator

x 2. Grove

J 3. Constellation
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x 4. cypher

Question ID : 99836742529

Q.6 Rearrange the parts of the sentence in correct order.

P: a sedentary lifestyle
Q: modernisation and
R: are responsible for
S: advanced technology

Ans  of 1 QsrP
5 2.SRaP
725 3.QsPR
< 4.PQRS

Question ID : 99836742521

Q.7 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Cup of joe
Ans X" 1 Heavy rain
( 2. A cup of coffee
X 3. By force
x 4. Pretence

Question ID : 99836742527

Q.8 Choose the word that means the same as the given word.

Effect
Ans X1 Lack

J 2. Result

x 3. Cheerful

X 4. Pure

Question ID : 99836742524

Q.9 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

The cloud of misfortunes was blown

Ans 1 out
o 2 over
25 3. off
X 4.away

Question ID : 99836742519 ]

Q.10 Rearrange the parts of the sentence in correct order.

P: per hour

Q: steady cycling

R: 300 calories

S: burns approximately

Ans 1 RsQP

5 2.PSRQ
o 3.QsrP
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5 4.PQRS

Question ID : 99836742522

Q.11 In the given question, four words are given out of which one word is correctly spelt. Choose
the correctly spelt word.

Ans X" 1. Inspectar
X 2. Influance

X 3. develup
( 4. Influence

Question ID : 99836742526

Q.12 Improve the bracketed part of the sentence. If there is No improvement, choose No
improvement.

(At the present), she is busy studying for her exams.

Ans X" 1. No improvement
X 2. In the present

f 3. Presently

X 4. At present

Question ID : 99836742518 ]

Q.13 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

Allin all
Ans X" 1_Fair and honest

X 2. To follow someone
“ 3. Considering everything

X 4. A strange person

Question ID : 99836742528 ]

Q.14 Choose the word that means the same as the given word.

Confident

Ans  of 1 Bold
5 2.Fine

7% 3. Diffident

X 4. Loose

Question ID : 99836742523 ]

Q.15 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

My friend is the of all.

Ans X" 1 kinder
25 2 kind
W 3. kindest
5 4. kindly

Question ID : 99836742520 ]
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Q.16
Ans

Comprehension:
Read the following information carefully and answer the given questions.

What interests many people is the possibility of finding an Earth-like planet and many science
fiction stories have been woven around the possibility of there existing a planet somewhere in
the universe, which is an exact replica of the Earth. There are too many, variable quantities for
this to be a possibility worth considering. What is possible, if planetary systems are common
as they seem to be, is the existence of planets where the conditions are similar to conditions
on the Earth and to which our form of life could rapidly adapt. If life had gained a foothold on
such a planet, it is possible that life closely paralleling our own planet could have developed.
What sort of conditions is necessary for life as we know it to develop? First of all of course a
suitable planetary body is essential. Given this, then two vital conditions must be satisfied.
The temperature must be neither too hot nor too cold, since intense heat breaks down organic
molecules and severe cold prevents activity from going on. Too much short-wave radiation
also upsets living organisms. The other prerequisite is a suitable atmosphere sufficiently
dense time give protection from radiation and meteorites and containing oxygen and water
vapour in reasonable quantities.

SubQuestion No : 16
The statement "If life had gained a foothold on such a planet” means that

x 1. if there is life on the planet, it would not be like ours
x 2. if we go there, we can develop it like this Earth
x 3. it is impossible for life to develop there

( 4. if there is life on the planet, it would be like ours

GET IT ON

Google Play

Question ID : 99836742531

Q.17
Ans

Comprehension:
Read the following information carefully and answer the given questions.

What interests many people is the possibility of finding an Earth-like planet and many science
fiction stories have been woven around the possibility of there existing a planet somewhere in
the universe, which is an exact replica of the Earth. There are too many, variable quantities for
this to be a possibility worth considering. What is possible, if planetary systems are common
as they seem to be, is the existence of planets where the conditions are similar to conditions
on the Earth and to which our form of life could rapidly adapt. If life had gained a foothold on
such a planet, it is possible that life closely paralleling our own planet could have developed.
What sort of conditions is necessary for life as we know it to develop? First of all of course a
suitable planetary body is essential. Given this, then two vital conditions must be satisfied.
The temperature must be neither too hot nor too cold, since intense heat breaks down organic
molecules and severe cold prevents activity from going on. Too much short-wave radiation
also upsets living organisms. The other prerequisite is a suitable atmosphere sufficiently
dense time give protection from radiation and meteorites and containing oxygen and water
vapour in reasonable quantities.

SubQuestion No : 17
Briskly is the synonym of which word?

of 1. Rapidly
75 2. vital

x 3. Dense
75 4. Fiction

Question ID : 99836742535

Comprehension:
Read the following information carefully and answer the given questions.

What interests many people is the possibility of finding an Earth-like planet and many science
fiction stories have been woven around the possibility of there existing a planet somewhere in
the universe, which is an exact replica of the Earth. There are too many, variable quantities for
this to be a possibility worth considering. What is possible, if planetary systems are common
as they seem to be, is the existence of planets where the conditions are similar to conditions
on the Earth and to which our form of life could rapidly adapt. If life had gained a foothold on
such a planet, it is possible that life closely paralleling our own planet could have developed.
What sort of conditions is necessary for life as we know it to develop? First of all of course a
suitable planetary body is essential. Given this, then two vital conditions must be satisfied.
The temperature must be neither too hot nor too cold, since intense heat breaks down organic
molecules and severe cold prevents activity from going on. Too much short-wave radiation
also upsets living organisms. The other prerequisite is a suitable atmosphere sufficiently
dense time give protection from radiation and meteorites and containing oxygen and water
vapour in reasonable quantities.
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Q.18
Ans

SubQuestion No : 18
What suggestions could the author propose?

‘, 1. There may be other planets like the Earth in this universe
x 2. There cannot be other planets like Earth in this universe
x 3. There is a planet which is exactly like the Earth

x 4. Science fiction movies create hope among the people

GET IT ON

Google Play

Question ID : 99836742533

Q.19

Ans

Comprehension:
Read the following information carefully and answer the given questions.

What interests many people is the possibility of finding an Earth-like planet and many science
fiction stories have been woven around the possibility of there existing a planet somewhere in
the universe, which is an exact replica of the Earth. There are too many, variable quantities for
this to be a possibility worth considering. What is possible, if planetary systems are common
as they seem to be, is the existence of planets where the conditions are similar to conditions
on the Earth and to which our form of life could rapidly adapt. If life had gained a foothold on
such a planet, it is possible that life closely paralleling our own planet could have developed.
What sort of conditions is necessary for life as we know it to develop? First of all of course a
suitable planetary body is essential. Given this, then two vital conditions must be satisfied.
The temperature must be neither too hot nor too cold, since intense heat breaks down organic
molecules and severe cold prevents activity from going on. Too much short-wave radiation
also upsets living organisms. The other prerequisite is a suitable atmosphere sufficiently
dense time give protection from radiation and meteorites and containing oxygen and water
vapour in reasonable quantities.

SubQuestion No : 19
The hypothesis about the possibility of planets parallel to the Earth gets its strength from

‘, 1. the possibility that another plantary system exists
x 2. books have been written about them
x 3. the scientists have discovered them

x 4. the planetary system does not exist

Question ID : 99836742532

Ans

Q.20 The word existence is similar in meaning to

Comprehension:
Read the following information carefully and answer the given questions.

What interests many people is the possibility of finding an Earth-like planet and many science
fiction stories have been woven around the possibility of there existing a planet somewhere in
the universe, which is an exact replica of the Earth. There are too many, variable quantities for
this to be a possibility worth considering. What is possible, if planetary systems are common
as they seem to be, is the existence of planets where the conditions are similar to conditions
on the Earth and to which our form of life could rapidly adapt. If life had gained a foothold on
such a planet, it is possible that life closely paralleling our own planet could have developed.
What sort of conditions is necessary for life as we know it to develop? First of all of course a
suitable planetary body is essential. Given this, then two vital conditions must be satisfied.
The temperature must be neither too hot nor too cold, since intense heat breaks down organic
molecules and severe cold prevents activity from going on. Too much short-wave radiation
also upsets living organisms. The other prerequisite is a suitable atmosphere sufficiently
dense time give protection from radiation and meteorites and containing oxygen and water
vapour in reasonable quantities.

SubQuestion No : 20

x 1. Death
x 2. End

( 3. Presence

x 4. Abstract

Question ID : 99836742534
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Section : General Hindi

Q.1 Ry g Rk Tur= # Iugeh Hgrer &1 99+ Hifq|

A ST SAFER R Ag=d! At at sueet _____ & oft 7 fAem
Ans  of 1 warer daw g

5 2. 9@ gaRER

5 3. aRrER R

75 4 g AR

Question ID : 99836742549 ]

Q.2 fR 7Y ez 1 A 2reg w19 AT
fAer
Ans " 1 Rifffer
X 2.qom
X 3. aifar

( 4. gerEr

Question ID : 99836742542

Q.3 fRu g ggrer o orf 7 RS9I
gl e
Ans x1,wﬁgw
5 2. 9ga s g
W 3. ST R
X 4. R e 3 g

Question ID : 99836742550

Q.4 3 7Y aray T AT UhR 1 R
3 et zfRn & ok wer ght 7w &
Ans  off 1 g ar
X 2. ST @t
X 3 waa
5 4 Ry T

Question ID : 99836742545

Q.5 Ry g aray & @ fohar zra HifSigl
Srofier I &t g0 Feasmait|
Ans X 1 Sreres
25 2. SRomee R
o 3. Tt
5 4. et foman

Question ID : 99836742538 ]

Q.6 Ry 7y aray & fFT R &1 R & 7a fifSigl
forra < arsferer wifda a«mar 21
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Ans X1.€1€Eh_vl
K2R
3
5 4. T

Question ID : 99836742543

Q.7 g g ggrer @1 oref e hifSiq)
orft-urt g
Ans X" 1 77 A gA=m ur S
o 2 sffar g
25 3. 916 3 ST

25 4. AR asf g

Question ID : 99836742547

Q.8 fw 7y arer | fohe U o1 g & 714 HifSigl
g1 at U Qaek &, 3= At hifsgl
Ans (']_W
5 2. wum
K 3em
5 4. mem

Question ID : 99836742544 ]

Q.9 fu g ereef # faRerst ereg wra hifSigl
Ans x 1.8

25 2. g

W 3 ==h

X 4. dgan

Question ID : 99836742537

Q.10 g 7Q g 2regi o1 |t o1 Fma Fifig)
LSRR8
Ans XL‘aﬁﬁ:aﬁﬁ
25 2. <t - T
o 3. o
X 4. 7@ ol

Question ID : 99836742539 ]

Q.11 i 71q arert 7 & 2[5 are 714 HIfQI
Ans 1 TfeE B eR I areh 81
25 2. 7Red @ ER SR A B
W 3. 1R 1 =R o A &
5 4. T o1 R I arer 81

Question ID : 99836742546
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Q.12 g 7Y 2real & gIg aei=it 7a FifSgI
Ans x 1. ggfa

22 gy

X 3

W 4 o

Question ID : 99836742540

Q.13 2w 71y 2re 1 GfY A e fifSig)

Question ID : 99836742536 ]

Q.14 g 7Q arer & Iugh 25 T TT+1 HIfSgI
gg e g dh @ g
Ans (1_;11;[
X 2qm
5 3.
p

Question ID : 99836742541 J

Q.15 fu 71q arer A fore formr g o1 Suai favan siTem S9h ugam= fifSigl
#3 gdten & gherar M & fAg @A e gan R R &
Ans x 1,1
"
30
F N

Question ID : 99836742548

Comprehension:

TRITRT Y STYdeh U AT Udeh Ul & IR fached § O Tgf e T

FARI et a1 uTgRa Geh Mg Sifeet Imafen UifiTes & | Uil ol 831 11 3 aufch o ShRUT grdT &1 38
wefidfeen U +ft srgt STaT & Rifch 3 TeRTT TeAwoT 31 7% quich BidT &1 FARITthel 2Te& Y Ity
fien 21e% © g% 81 W T nifAmrel § BIE-SIEl T gidt & org FaRITRe Sgl ST 81 39
FARICATE & g FARIthet HIS[G 81T & | FARIthet hre, TS, ATSESH SR Frw ¥ et a1
glar & SR Taft wuidt g2 del & uran Sirar 81 5 ufai uemrer Geawor & Ageayquf fier e &1 wefia
hIfAehT3N ZRT Temifir it oht TETafen Shett & ulRafcd sea Y fonam orepTer Teawor a1 ket fAafag
FHEAT & | FARITReITES e fohteeta uardf 8, Safeh aaRifthet sifohestt 81dT &1 a1t & IUaR @
Affafraw fReret STTAT & 9fiR 319 STt ScTe UT giaT & I URMBRT dhed &1 uRthRT & 3T 3fR &R &=l
& ot gta &1 fafer sraemaft # fafea srfedent & STAR © FRifthel @ 3 IaTe W 5T &, o
T AT & foh a=iRifthet & UTSieT dheeh T84 &1 UfehaT chaet 82 UTeUl A gidT &1 arad # We ohT &1 g1
TR L} & TNk ATt SR ¥R T o G & oft rehrer Geawor-ufehan gl 8, S g I uTe At o
Tie | 37d: Teh1ST ToAWOT -Ufehar & Tie el T Ia-1T Ae<d el I&dT fola-T foh UTeu-ahifRrenrait & offar g
gufer guigia a1 FiRifthet Y Fisrelt 7 gt dora 8] Ifeh FaRifthe &1 ag arafaes oy & foradh gr
TeRTRIE AN 0T Y Ufehar §u= gidl 21

SubQuestion No : 16
Q.16 IUH Terizr 1 Iugh Mffas orar ghm?

Ans
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K 1o
K 2. amfie
of 3. R

P A

Question ID : 99836742556

Ans

Q.17 oRFFRA & F-& 19 @ TUT g1 &2

Comprehension:

TEIST T SATYGeh Ue aUT Ueh U% & IR fdehed! 8§ © el fahed 1

FARIftheT a1 uofgRa ger Mg Sifet Tamafes Tifies &1 ot ol 831 41 3t aufeh & hRUT BT 81 38
wefidfee e off srgt SiTar & ifeh 3 UeRTT TecwoT o1 J%eT quich BiaT 81 FARithet Teg Y Iy
fien 21eg @ g2 81 WS B wifAmrelt § SIE-SiEl T gt & g FaRiwe Sel ST 8139
FARIARE B g FRIfthet HIS[G giaT & | FRIfthet hre, SHTaRftsT, ATSetsr ok s ¥ e a1
giar & ol goft wuidt g2 el & uran Srar 81 &9 ufat uemrer Geawor & mgeayquf faer e &1 wefia
Fifrarer grT yaiRfia Sl @t Tamafae it § uRafda sa &t fohar uerrer dectoor a1 wiet [
T 51 FARIThTSS Y& fohteelia uare 8, Siafch aiikifthel Stfcheeet! giaT ¢ 31l o SUIR ¥
BT Aehet SITaT § 9fiR 31a STt IcuTe, UMt BiaT & S€ URMARA shgd &1 URIARA & 3t 3R &R g
& 7uT gid &1 fafda sraamet & fafva sifYee! & ITaR @ wiRifthel & M IaTe T gV &, o
a1 AT & foh aeiRifthet & UTeieT dheeh T8 &1 UfehaT Shaet 82 UTeUl § gidT &1 arad § te ovt g1 g1
JTETh 6! & ,FRifch ATeT SR R 1 o G1d & off Uehrer HAwor-ufehan gt 8, St T T a9 a1 31
T | 31a: UehTT GRAYOT -Ufehar & GIe) et A7 IqTT He<d gl I@dT St foh greu-ahifrenran o ofiar &2
guies gofgRa a1 eeiRifthet T Hiseft & gt Ta 8] Jfch aeiiRITthel 81 a8 aredides 1Y) & fSdh gRT
UhTRIEAYUT Y Ufehar Tu= gidl 81

SubQuestion No : 17

of 1. o R &R
75 2. siterfor
X 3. g

p R

Question ID : 99836742552

Ans

Q.18 uid il BIEI-BIET WA <kl T hgl ST 82

Comprehension:

TEIIRT T SAYEeh U aUT Tdch U & IR fached # § Hal fdehed g1

FARIftheT a1 UufgRa geh Mg Sifect Iamafes difiies & | U=l ol 831 41 3 aufch & hRUT gidT &1 38
wafidfee Ui +ft srgt SiTaT & Riifch 3 TeRTT TeaAwoT o1 J%e quich BidT & FARITthel 2Teg Y Ity
fien 21eg @ g% 81 W Y nifAmrel # BIE-SIE T gidt & o aaRiwRe gl ST 81 39
FARIATE & & FARIthet HIS[G 81T & | FARIthet hle, SIS, ATSES SR Fraw ¥ et a1
glar & ol gaft wuidt g2 del & uran Sirar 81 & ufat uemrer Geawor & mgayquf fier e &1 wefia
At grT yenrfia Foif @t Tarafe Soif 7 uRafda eea i fohar Tenier decivor a1 wie) AR
FHEAT &1 FARITReITES e fohteetia uaref &, Safdh aeRifthet sifhestt giaT &1 arett & Iu=R @
Afafram fReret STTaT € 9fiR 31 STt ScTe UT giaT & 34 URMBRT dhgd &1 uRthRT & 3T 3fiR &R &=l
& o1 g1 €1 fafdra sraematt & fafda sifdee! & IuaR @ wiRifthel & M IaTe U gV &, ot
a1 7T & foh a=iRifthet & UTSieT dheeh T84 &1 UfehaT chaet 82 UTeUl A gidT &1 aread H Wie ot g1 g1
STETh 6! & ,FRiTch ATeT SR R 1 & Gie 7 off Ueprer HAwor-ufehan gidt 8, S o T a19 a1 31
W | 31a: TehTT HRATOT -Ufehar & Gie a1 T7 IqTT Hg<d el I@dT St foh greu-ahifrenran & ofiar &2
guies gofgRa a1 eeiRifthet &t Hisgeft & gt §va 8| Jfch alRITthel 81 a8 ardideh 1Y) & fSadh gRT
UhTRIEAYT Y ufehar Tu= gidl 81

SubQuestion No : 18

5 1. FRiftRe
5 2. sftreeha
p Rt
of 4. verr dsswor

Question ID : 99836742554

Comprehension:

TRITRT Y STYdeh U aUT Udeh Ul & IR fached § O Tgl e T
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Q.19

Ans

FARIthet a1 qofgRa Ter TiEHgh Sifeet Iamafies AifiTes &1 =il e §21 31 3 aufes 3 shIROT Bl 81 39
i formHe +ff gt STaT & SRiifch & UeRTST WeWUT ST 1R GuTeh BIdT | SRfRITohel QT6G dhT Ity
ik ez @ g2 81 Ut i AfArepratt F S-S TeaATG gt & fog i e gl ST 81 59
FARIATE H g FARIthel HISIG BidT & | FARIthet ahre, Siarfior, ATggior iR F=faw § firerens s
gl & ofk Toft ot g dtert & uran e &1 g uft veRrer Hsdwor § Hgayuf offien A &1 asfia
AT ZRT Terifir St ont TETafen Shott d ulRafcd &ea Y fonam repter Teawor a1 tiet fAdfg
Tl &1 FARITheTTgS Yer foheectia uare 8, Stafch aefiRifthel sifoheeett giar 81 ertl o SuaR &
Affrm fRehe ST & 3R 31a St IATE UTW BidT & 38 URMhRA thgd &1 URIhRA # oret 3R &R gt
& TuT gt &1 faf e Srerenstt # fafva sifYerrianl & IUTR & FiRIfthel & S IS U g &, o
TdT oTaT & foh aeiiRifthet & UTSRiet chaeh X84 & | Ufehal hadl 82 UTeUl & BidT &1 aTedd | Ue ohl 81 g
TR e} & TNk ATet 3R 3R 1 o e & oft yrehrer Geawor-uferan gt 8, S g I ura ar e
TS| 37d: TeRIT GoATOT -Ufehar & Gieh et T7 Iq-T Tg<d o w@dT foia= fob ureu-atfranrar & oftar &%
guich TuigRa a1 SRiRifthet Y HiSEh 7 8t T 8] fch sRIRITthel 81 I8 dTdfdeh 3] & foieteh gRT
TR SANUT cht Ufehar U< gidl 1

SubQuestion No : 19
=il kT &0 7 fohd FRoT 4 glar &2

X 1
o 2 R

K 3. am

X 4. s

Question ID : 99836742553

Q.20

Ans

Comprehension:

TEITT Y SYEh Ue IUT U U4 o IR fashed! & & 9& faehed g1

FARI et AT UTgRA Qe WEgeh Sifeet IMTAf~eh UMfTeh & | O ol 831 11 3 aUTch oh ShIRUT BidT &1 58
wieRidfeen fUrme +ft srgT SITaT & Riifch 3 TeRTT T=AWOT S 7% qUTch BIdT 6| FARITthel 2Te& ht Jed i<t
fien 1% © g% 81 WY T nifRAmreT § BIE-SIE T gidt § foig FiRITIRe gl STTdT 81 39
FARICAE & & FARIthet HISIG 81T & | FARIthet chle, TSI, ATSEIS SR BT ¥ fireene a1
giar § Sl Iaft Tuidt g diel & uran Sirar 81 53 ufai ueRrer Seawor  Ageayquf fidr et &1 wefia
At grT Ui o1l @t T ol § uRafda sa i fohar Tenier Tecwor a1 wie) ARy
HEad! 8| FARIThelTss Y& fohteetia uard g, Siafch aiRifthe Sifeheeet! 81T 1 STl & ITAR
AfAfm Aehet SITaT § 3fiR o1a STt IcuTe UTed giaT & S8 URMARA shgd &1 URfhRA & o<t ofR e g
& ot gta &1 fafea sraemaft # faffa srfedent & ITIR ¥ FiRifthel @ 3 IaTe U 5T &, o
T 7T & foh a=iRifthet & UTSieT dheeh T84 &1 UfehaT chaet 82 UTeUl A gidT &1 aridd § Wie ot 831 g1
TR eI & TNk AT SR ¥R T o e & oft rehrer Geawur-uferan gt 8, S g I ura at o
Tie| 37d: TehTST ST -UfehaT & GIe) ol [T IaTT He<d "ol I&dT fola-T foh UTeu-ahifRrenrait & offar g2
quich quigRa aT aeiRifther &t Hisgert A & de7a 8| <ifeh aiRifthet 61 a5 aratadh 317 & foreh g1
TR 2N T Y Ufehar §u= gidl 21

SubQuestion No : 20
FAIAeT 2reg Y Iaufa spte-<ff T @ g< 87

o 1=
X 2 dwpd
K5 3R

5 4. s

Question ID : 99836742555

Q.1

Ans

Frafafle d @ w9 o arnfSe/aiepias amed & st a3 & d@qfg ok e Ft wwnfaa s
&

I. U 922 RT &+ @ g 3fiR uRaR & ure T@wre
Il. GoF S=3 ZRT UTw Topet A& Y ot
IIl. Goh o= & Hgohd| UYg Ha IR "gaift fr qorar

v SRRECHT
p PAEEHTEC
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25 3. 1@ i &
p A

Question ID : 99836742566 ]

Q.2 fA=fafaa & @ wiF @ g uaR fi sifdmy armft =i 82

1. g2 |t

II. Tyf-eeft

1. == iR HarR vtenfhr

IV. 3THUTH & aTdTaRUT &A1 SUGRT AT

Ans 1|, Il @IV

25 2.0, na
o 30y
25 4, ma v

Question ID : 99836742565

Q.3 F=faf@a d @ #i= /@ gumaeft e &« &/82

1. frerTera & ATEie &Y 9&d 91T S HehdT 21
I1. Ig F=dl ol ITh URGRT SR TeTal & 91 @+ & g vienfad e 81
1. g Teft 3R afgeanzor & ek it dle d Aeg = Tt gl

Ans  of 1 i1 qer il @
25 2., na
p AR
25 4. Faw

Question ID : 99836742557

Q.4 FfafEa d & o a1 gw 98l &1 @ A« T8 @ g?
Ans X 1 gurasiTelt ST - eSSk TaeATeH &t e @l &
X 2. arEniHe ST - 9 ik T Hiex gedhl dret IS
2K 3. S ATy - T8 Sifeard wU & SR St §
of 4 ST st - g Sfeer & P R R T @ & Ge ST

Question ID : 99836742573

Q.5 ____ Ueh Ot vorelt & wu A aRewnfa Y 7 @ St oru=t el ofiR st & gL ar der o
ot e et @1

Ans X" 1 afdfen e
25 2. Tt gen
o 3. <o T
25 4. enftfes e

Question ID : 99836742575 ]

Q.6 F=fafEd waf d @ w9 a1 wrf ulRar gRT TSt 9T et & Qg v smar &2

. &4 us==
Il. danfRer deF a1 fafRaas
1Il. A199 SHagR <k fAdsor

Ans 1 |Frll

25 2 1@
o 31
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Question ID : 99836742567

Q.7 Fr=faf@a # @ #i ar IR uaR & e & a=sf 7 ot &2

1. ag fafdaf wR ek spear/eaeet @
II. gt BT &t Ueh dcT & &4 & Ugdl/uedt &

Ans  of 1 T
X 2 1qur i g
25 3. Fa i
25 4 e |

Question ID : 99836742576

Q.8 Which of the following is/are principle(s) of growth and development?
I. Continuous development

Il. Unpredictability
lll. Principle of interrelationship

Ans X 1.Bothlland Ill
W 2.Bothland il
/< 3.Bothland I

25 4, and

Question ID : 99836742560

Q.9 Which of the following is/are characteristic(s) of personality?

I. Personality of each individual is unique
1. Personality functions as a unified whole
lll. Personality is static not dynamic

Ans X" 1.Both Il and I

25 2.0, 1land 1l

o 3.Bothland Ii

#5 4.Bothland Ill

Question ID : 99836742564

Q.10 19%ff erared} i gFamd & WRd A weseft fAen & ar d FffR@a A @ sl ar e 82

I. TRt U onfR eneft & ahre & geg s &
II. urSTsRd AT wTuredt ok ity wiuRrett R hfga &

Ans x1.m|
W 2. 1@niEe
p O IE il
25 4. Faa

Question ID : 99836742572

Q.11 Which of the following can help in close linkage between school and community?

|. Regular communication
Il. Teachers guiding and advising parents

Ans &1 Only I

25 2.0nly|

o 3.Bothland Ii
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x 4. Neither I nor Il

Question ID : 99836742570

Q.12 fvem o1 AfdeR #fAfATH, 2009 & FTER, Tk fAerr & g ufar Twarg & & W 6 e
T AT g (Ol & we afgd feron)?

Ans X135
o 245
/5 3.52
25 448

Question ID : 99836742571

Q.13 Frefafla § & @i av/d sfgf & vew &

|. soaER ar ferar

1. 71T Rt TEGH AT

. Tga 9=

IV. 5190

Ans B 1 |, Il @IV

25 2. na
r S RARIE Y
v FRNEC Y

Question ID : 99836742559

Q.14 FA=ffRa d§ @ F9 @ ity & amfties Fraw & ot gd asht o Fare a¥ich @ FAofa A9 awn
e @ i argafa 3 &2

Ans X‘I.TIE:R:ﬁET
Vv 2 R
p R0
5 4. FATRRA

Question ID : 99836742561

Q.15 R-sftu=nies fRrem vomeht & Heiy d F=faf@a & @ o9 ar/d wu= ad &2

I. 399 =N UTSTshA auT FRfvoTe gl &
1. 39 frenff i sufeafa srafara A gt & aur e qun o= & fi dudh wt w1 w=edl g

Ans  of 1 e
25 2. e |
X 3 &l

& amdiad

Question ID : 99836742569

Q.16 T-ifascyor & TeAuTUes S & AR wgAfsdwor o Rigia Rar ar?
Ans X1 et i

5 2. Irethe TeeR
5 3. oft. gae ameité
W 4. fris whrs

Question ID : 99836742558
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Q.17 2R IR AR & R, FA=fafE@a 7 @ i a/@ fAgia 3+ e & forg § <t a<ai &
IETCHeRdT hl dI&TaT 3T dTga &7

. seaeefier 3R e ARt &1 9w sheer
1. T Y uget & Hraa & dieariga o iR STt Jedich deT
I1l. Rt 3k afkonsl & |1y geaich ol SiteT

Ans X" 1|l g Il @
25 2 1 aun i @

o 3. L@
p A

Question ID : 99836742563

Q.18 fA=fafla & @ w9 9/ wu= U T=a § WraTeHes/arTfores [T & oy J 9t 8/872

1. 2 3R 6 #ER it 39 & ftw, A shter, g, et iR s Sft wraTad @t ek wed &

1. 1 o Y o1y en A Fheht oft avg @ gz *t oo T8 TR TFa &

Ill. =3 TR R 15 @ 18 HgA it 39 & fiw gep 3R WiaHTernss wu & gfher aoa & vaer
A &

Ans 1 || IIl @
S 2. L nanli
25 3. 1@ e
of 417

Question ID : 99836742562 J

Q.19 Which of the following is true about modern day examinations?

I. Focus on the capacity to memorize
Il. Focus on the capacity to reproduce

Ans X" 1 Onlyll

x 2. Neither I nor Il

< 3.0nlyl

o 4.Bothlandll

Question ID : 99836742574 ]

Q.20 fre= TEpfa I ‘T Sifeet arguf & wu d gRwRe frar @ e a9 & 9e & o d aqw
?aﬁhﬁmwaﬁ,m,ﬁw,ﬂﬁm,ﬁh-ﬁmaammﬂWHNMQnﬁa
Ans X' 1 ¥epie urdg
7 2. rder gffn
X 3. sg
of 4% & aEr

Question ID : 99836742568

Section : Discipline2

Q.1 Which of the following is/are the characteristic of constructivist approach for teaching-
learning process?

I. Focus is on learning, not teaching
Il. Students make meaning from their own experience
lll. The activities are interactive and student centred

Ans X" 1 lland Ill

25 2. 1and II
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o 3 1and
25 4.1and I

Question ID : 99836742584 ]

Q.2 Ffafea d & o ga awret siftnm rarerema 3w e &2

. e g
11, ot

lll. Sfearash
IV. Ta: iquffiar

Ans 1|, ll1@ IV

25 2.0, na
o 300 ma v
25 4, ma v

Question ID : 99836742590

Q.3 Which of the following statement regarding learning as meaning making is correct?

I. The meaning maker continues to create new meanings, to make new transactions with his
environment
Il. The meaning maker has no end to his/her educative process

Ans  of 1 Bothlandll

25 2.0nly|

x 3. Neither I nor Il

25 4.0onyll

Question ID : 99836742581

Q.4 f=fafEa d @ FiF ar/a wre & G9FTcHS RS aeAT & Yadl-TTcaTedeh ahiel & J81uT 82

1. a%g Y araferera 1 i R g
11, A7 & R 9TeT auT A1 A =R
1. gfw=n efda wiex nfafafoat

Ans X" 1 |Gl
25 2 1
p SENECIT
o 4@

Question ID : 99836742582 ]

Q.5 3D IV THIE I Teh UNT ORelt &1 3D a¥g ZRT &Y 7T S1g ITqaht gar gl

Ans Jmaﬂa—cm-nm
5 2. 9R -7
25 358 -am

& 4. gmg-Am

Question ID : 99836742596

Q.6 What is your role as a teacher in Cooperative learning model?

I. To assist learning teams to do their work
1. To list knowledge of learning material
Ill. To go over objectives for the lesson and establish the learning set

Ans  of 1 1 11and I

25 2.onlyl
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25 3. 11and i
25 4.1and i

Question ID : 99836742589 ]

Q.7 F=fafea d & o fRAeror-sifm ufthar & forg san | sreaTues gRT vg=h g1 aref 32a-sie
wgrash am e 82

Ans X1 fien

2.

X 3.
X 4. TR wET e

Question ID : 99836742592

Q.8 3R & Srfnm dhfga Iurm &, frenfat @ sifdrm aut e i vy SeR d° &
3rden & STl 81 ag foha avg @ el fi weg war @2

1. fremeff @-RAERxa sreftam e g7 &
1. B Tt FeRar g1 Fire | Rigew gt o &
1. frem=ff Tt 1=t S1fTTH T Peich R Tehat & AUT HIA &

Ans X" 1 |qurlll

p VAT
25 3 @
o 41

Question ID : 99836742588 ]

Q.9 A child learning to write in good hand writing watches her teacher and keenly observe the
way she is holding the pen, moving her fingers, where she is using capital letter and does
not pay attention to how the teacher is dressed. Identify the type of Observational learning
process involved according to Bandura?

Ans X" 1. Retention process
x 2. Motor reproduction process
“ 3. Attention process

x 4. Motivational process

Question ID : 99836742579

Q.10 A student does his homework only because he/she fears parental dissatisfaction for not
doing it. This represents which kind of motivation for the student?

Ans X" 1. Both intrinsic and extrinsic motivation
x 2. Intrinsic motivation
( 3. Extrinsic motivation

x 4. Neither intrinsic nor extrinsic motivation

Question ID : 99836742578

Q.11 e & F=fafEa d @ = o Rtwar sen & ardareror ot RuafRa 78 a=dt 22
Ans 1 ol & ATy Tey

X 2.7
X 3 s
W 4.9m

Question ID : 99836742577 J
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Q.12 JGWTITETE _____ ohl STaT &aT 81

Ans X 1 od wTTait & aetgden ST R afeh g faftra @it @ Seeh) T ST @R e
/X 2. SgaEs AT & @iepha
\f&fﬁfﬁawsﬁmwfﬁweﬁwwaﬁmwm%
25 4.7 & e F e R @ s

Question ID : 99836742594 J

Q.13 Which of the following is/are the limitations of teacher centered approach of teaching?
I. There is no scope for debate and discussion among the students

Il. It retards creativity of the children
lll. Evaluation is mostly summative in nature

Ans  of 1 | and

25 2. 1and Il
25 3. 1tand i
25 4.1and 1l

Question ID : 99836742583

Q.14 &Id & Aisd i AN Afm A<t & IR & R=fafEa § @ o9 a9/ sy ad 2

1. Rremff aer-dh ot J +fR 7@ & aun aaferal aun siacdfre ugqeil R aw e A
I1. frem2ff =g farai & ary wahT e, SEUT HRAT AT ATAFTRR SITYHNT & A1 ek heeT
qEE A &
Ans X" 1 e |l
75 2. e |
p O IE il
W 4 1@ g

Question ID : 99836742587

Q.15 e # fvaror i S Fe fAfY F1/ Far @1 &2

1. SifT TaTafaeh, STFegRIch AT Seifdr SIg¥d o SITdT @

I1. g Sl ol IR AR, HTATeHh TUT HHATHIHD ATIUhATHAT ehi YT HA I AR UG
et @

1. 7 fremeff-srearaes aur frem=ff-faenff dduf @t ggg o™ & Aee wet @

Ans 1 |l
25 2. 1
25 3 @
o 4

Question ID : 99836742585 J

Q.16 feraa ggRfRees fafa =t RAraror & gas Sf R & w0  akufa fra S, Ramr dva gt o
T2 ol Yok @otchal & AT & TR U= AT &2

Ans  off 1 ot 378 vead et
25 2. tw R
25 3. S eI WA
£ 4. ursen R

Question ID : 99836742586

Q.17 Which of the following difficulties associated with group learning are to be taken care of by
a teacher while planning and managing group activity?
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I. Absence of or lack of adequate coordination among participants
Il. Pressure on individual learners to polarize on the issue being discussed in the group
lll. Ambiguous decision-making procedures

Ans X 1. 1and il

< 2. 1and i
25 3. Irand Il
o 4 L land i

l Question ID : 99836742591 J

Q.18 forem a<h Rt fah, "srum forg @t & o< & Ta-ITe 59 &1 & v ot Raran g e sw
STFR & G9XT G919 & Yehed Heg fAedl g'?

Ans X' 1 orgel theR
7% 2. sa uraeta
W 3. SRm R
4 T R

Question ID : 99836742580 ]

Q.19 "wmeT' & Hey A F=fof@da § @ o9 ar/d sy 98 @2

1. grfotes AfY-Rars aur aree A g aa &
1. ST Y ITfSies ug=T I9<h! aierare h vTaT @ wanfad gt &
1. =afh Y HTuT & IHKRT AT Y8R Sl THSHAT ST b1 8

Ans 1 |l

25 2. @
o 31

75 4 |

Question ID : 99836742593

Q.20 fAfafaa & @ aur wen & a=ai &t v fR{E™ & a8 §2

1. feraTeReTTa & wTemw & fAveror

I1. UTS ) THFR & T1E IHehT TR TaTT

11l S hl G& § UTS T A A o fog Shgan

IV. I a=Tiaes fAsatwor Y agrar 37 & foag wrwrsit & awimg 3+ fas= T

Ans X" 1 |, 1lF IV

25 2
W 3 1@
p RIECH

Question ID : 99836742595

Section : Discipline3

Q.1 If the difference between two prime numbers is 2, then those two prime numbers are known
as

I. Co-primes
Il. Twin primes

Ans X" 1 Bothland Il
5 2. Neither I nor Il
o 3.0nly i
25 4.0nly|
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Question ID : 99836742600

Q.2 3D a¥geil R gt & f&ama fi sifderar ar grar 39 il garfdt &1
Ans x1§aq-|-q

& 2. gmg-Am

25 3. amge -\

v R

Question ID : 99836742597 ]

Q.3 Choose the word that means the same as the given word.

Lengthen
Ans X" 1 compress

x 2. exalted
J 3. expand
X 4. ease

Question ID : 99836742609

Q.4 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

To have other fish to fry
Ans 1 disturb

f 2. to have more important tasks to attend to
x 3. begin to think
25 4. finish off well

Question ID : 99836742611 ]

Q.5 U ulv&g S &t ot S I p/q 997 r/s geM R Fefaf@a |§ @ @ ar o ang gar &2
Ans X 1. (pr-qn)/qs

X 2.(pq - rs)/gs

o 3. (ps - any/as

X 4. (ps - as)/ar

Question ID : 99836742605

Q.6 Which of the following body parts are used as non-standard units of length?
I. Fathom
Il. Hand

Ill. Cubit
IV. Finger

Ans  of 1 111, 11and IV

25 2.0, 1and IV
25 3. and
25 4.1, 11and IV

Question ID : 99836742601

Q.7 Choose the word that means the same as the given word.

Harsh
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Ans "1 clear
J 2. severe
x 3. prosper
25 4. dwell

Question ID : 99836742608

Q.8 Bandura suggests that self-efficacy appraisals are based on how many sources of
information?

Ans  of 14
K 2.2
5033
S 46

Question ID : 99836742616

Q.9 A sentence has been given with a blank to be filled with an appropriate word. Choose the
correct alternative.

She dived

Ans  of 1 into
K 2.in
x 3. under
X 4. towards

the swimming pool.

Question ID : 99836742613 ]

Q.10 ""rTforer fa=are &, g9 Fehet & ATead @ agd §o HIEd 8, 1R Tehet d HATHIeHE ufsharg
A gt &1 a8 Y fFaA har?

Ans X' 1 g B
W 2 séaga
5 3. 9 uraeia
25 4. S ). aem

Question ID : 99836742615

Q.11 Improve the bracketed part of the sentence. If there is No Improvement choose No
Improvement.

The little girl was so busy, that she did not (responded).
Ans f 1. respond

x 2. response
x 3. No improvement

x 4. responding

Question ID : 99836742606

Q.12 f=fafaa | 9 fore S voneht &, gi Sega glar 82

1. vTepfaren T
1. gof e
1. aRAT T

IV. guife

Ans X" 1 |, |l F IV

W 2. L1 v
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25 3 @
25 4@y

Question ID : 99836742599 ]

Q.13 Choose the word that can substitute the given sentence.

A short speech by a player at the end of the play
Ans X" 1 carrion

X 2. epitah
X 3. autonomy

( 4. epilogue

Question ID : 99836742610 ]

Q.14 Fraqer = & Rorg aifder < et &2
Ans X" 1. e chIUT T HTT AT Tk ST & aTS

X 2. & it s AT

5 3.3 getah & ofarg

o 4. S R 2 sqeroit &Y TS qe I sicTa T T @ AT

Question ID : 99836742603 ]

F&Eud

Q.15 Qwfi-anf qur Hiez-anf & &= &1 aRerer= =81 forar mar &, 32 shusn: aur
gRaia forar mar 21

X1 1 e, 1 2

Ans

w21 AT, 1 A2

X3 10 A2 1 #2

X+ 142, 10 2

Question ID : 99836742598

Q.16 Qe ol § gwfaa 6 frast @ gt &7
Ans  of 1 4

K 2.2

537

X 43

Question ID : 99836742604

Q.17 HeH el & 3id T A g1 deh Y gTY Y dars fAY a1 & e FahTs & T J WA
frarsTarg @l ______ & s @ ST SIar gl

Ans (1.2121%1?
K 209
5 3. them
X 4. e

Question ID : 99836742602 ]
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Q.18 In the following question, out of the given four alternatives, select the alternative which best
expresses the meaning of the Idiom/Phrase.

By hook or crook

Ans X 1 speak frankly and directly
x 2. very little satisfaction

X 3. close together

( 4. by any means

Question ID : 99836742612

Q.19 Choose the word that is opposite in meaning to the given word.

Abolish
Ans o 1 restore

25 2. like
75 3. flexible
x 4. quell

Question ID : 99836742607

Q.20 Which of the following is/are the basic concepts of Ivan Pavlov?

I. Extinction

1. Discrimination

lll. Higher-order conditioning
IV. Stimulus generalization

Ans &1 and Il
W 2.1, 111and Iv
25 3. land i
X 4. and

Question ID : 99836742614

Section : Discipline4

Q.1 @9 ar Ran-fAEsr ag gema g &ar & fk wgrit ot 31fdes o s & g o v i wepar
8?

Ans X 1. o
X 2. et @t oo aAT
75 3. eri & oo
o 4 =i e

Question ID : 99836742625 ]

Q.2 U IuAlft chegex 9+ & ==or 2 # T oA 87

1. g gAY« w1 6 o= Fami &t saa gt
1. a8 3 o o= o o <@ &, ASTHR HEG ST T §elTg &1

Ans o 1 1o @
25 2. e |
p S IE Sl
< 4 Fadll

[ Question ID : 99836742633 ]
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Q.3 What comes under ‘writing at sentence level’ in writing activity?

I. Writing information from charts or grids.
Il. Re-writing scrambled sentences correctly.

Ans  of 1 Bothlandll

25 2.0nly|

x 3. Neither I nor Il

25 4.0nlyl

Question ID : 99836742630

Q.4 Which of the following is/are objectives of EVS at elementary education?

I. developing curiosity and awareness about the environment in children.

Il. Inculcating habits, values, attitudes and emotions to maintain and promote quality
environment.

lll. Developing skills to solve environment problems and an informed concern, etc.

Ans & 1. Bothland Il
% 2.Both Il and Il
% 3.Both land Ill

o 4 L land i

Question ID : 99836742621

Q.5 F=faf@a d & o a1 w7 v Fl Jif@E T T U FA 61 a1 TE A1 ST Sehat 82
Ans XLEH

X 2. o6 & e @

5 3. U e T IuET s

W 4 SvguR @R

Question ID : 99836742624 ]

Q.6 Which of the following can be used to accompany story-based work?

I. Animated stories
Il. Documentaries

Ans X" 1 Only|

x 2. Neither | nor Il

< 3.0nyll

o 4. Bothland i

Question ID : 99836742635

Q.7 fafs gasnfaes Sueor St @ 3ru= 9w 3R suagR & 9grad & fae Suain &:d §, 32
SR gRI_____ gt Sirat 1

I =mé
II. Tha

Ans x1.a,—=|a|
F A
p IR S
o 4 Fa

Question ID : 99836742617 ]

Q.8 uafeRur 3reaa=T # TEATHS ifNeafwh ol T a9 & ddal & g d Rfaf@add = ar
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HU T 8/8?

1. et F AR ufrahft araraRor & gor &
I1. sr==if & forg uRyuf i arareror &1 For= @ean
I1l. T9g S ht vieTfRe e

Ans  of 1 1
X 2 1qur i g
< 3. & lll
p EAECHIE

Question ID : 99836742620

Q.9 WIS e HAT fohd TR & d@=1 nfafafYy 1 uer 2T &2
Ans Jmé?ﬂzwq?é@:r

X 2 I TR R A

2K 3. IR wR W e
25 4. I TR R A

Question ID : 99836742636

Q.10 fA=faf@a & @ fora ) TaTeHes Iorhfaat & enfae forar mar &2

1. erffepa sheemt
1. wifersgeroft ==

Ans X" 1 e |l
W 2 17 EE
K 3adlagi
25 4 Fae |

Question ID : 99836742631

Q.11 FA=faf@a & @ = ot sie H nfafafat @ gt g d@twor & forg frar smar 8?2

1. T AT S19ATH AT
1. A9 =

Ans X' 1 e |l
W 2. 1@ @
p IR
5 4. |

Question ID : 99836742629 ]

Q.12 ==l & A hl VRN e T9T Qo fAereh @t fore feigatt (ama) &t o= & waem wnfgg?

1. w2 &l ues, G-t AUt 3@ S R H Wi e anggl
1. R &= ok, STgt aes dva g 9t a=ai &1 §o 7 g uehia favar sy

Ans X1 e Il
P R
W 3.1 EE
75 4. |

Question ID : 99836742634

Q.13 gafarur sregaa § freror-ifdnm & forg fRafaf@a 7 @ e a1/ deumma o= g2

1. derRmer
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II. e
Ill. ST - =R
IV. ug] fRifereaT sruare

Ans 1 I, Il @ IV

W 2. L1 v
23 a v
25 4 maiv

Question ID : 99836742618 ]

Q.14 ggfeRvr sreza | Ggalt Sifoer it ‘TR - R’ aeeiies d Frafof@a 7 9 o ar wor 38 @2
Ans X' 1. cafthiTa B Rieteh & u% &1 SraTe 31 8

2. 5 @ ot et Y eafrTa w0 @ Rd R & g e

25 3. 8 o &l gy o & oG Qe & e GrE e

25 4. e &y afer

Question ID : 99836742619 ]

Q.15 f=faf@da & @ 4 @ Aol =i aigpfaes SRR 7 2nfae forar mon & it ok @ 9gE &
ATAR Y U il AT 82

|. agTRe
1. g

Ans o 1 el
p O IE Eil
5 3. e |
25 41 aun @

Question ID : 99836742632 ]

Q.16 fhe Afe 1 IUTNT FHh G o 201 AT ST Hehell &2
Ans X" 1. =RoT Hiee

25 2. ufa wRoftg Afew

< 3. 9R woftg Aee

o 4 & o Htea

Question ID : 99836742628 ]

Q.17 fr=faf@a & & = ar hi-asfén § a1 o' & siafa smar @2
Ans X 1 goft Renffal & eree & gy @

X 2. vgat v o e 3

25 3. w9 oft ora g wh wefRia @
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Section : Discipline5

Q.1 F=fafEa & @ fore ==oT &1 UTe 7S reeTaeil ahl U2 e Y dehsiieh] ehT SUANT shed 9o foraT
ST TehdT 87
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Q.2 Which of the following pair of intellectual(s) and their works contributed to social sciences
are correct?

I. Plato — Republic

Il. Aristotle — Politics
11l. Adam Smith — The Wealth of Nations

Ans " 1 Bothland Il

o 2. 1and i
25 3. 0only I
25 4. onlyll
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Q.6
Ans x 1. Procedural knowledge

is the awareness of one’s own cognitive and particular cognitive processes.

X 2. Conceptual knowledge
x 3. Factual knowledge

J 4. Metacognitive knowledge
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Q.9 Which of the following subject(s) are included in social science?

1. Anthropology

Il. Sociology

11l. Economics

IV. Political Science

Ans X" 1 | llland IV

o 211 1and IV
25 3.1, 1and IV
25 4.0, and
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Q.10 Tf ge g= &1 e 7 /.4, &, at g1 & &%t ST 4 AT IR g?
Ans
X1 308 AAY2

v 2 154 A2
X 3 385 A2

X4 77 A2

Question ID : 99836742643 ]

Q.11 afZ A BawrcfAfaRe figd, @l g A A2 duTAB+BC = AC, @I B&HIAGUTC &
o & T@&r SgT ST GepdT & R Tha A ga 3@ A - B - C 3far € - B - A fordd | g A=faf@a
# & foraeh aRymem @2

Ans X' 1. g T T Y eErd
K2
o 3. 7o
R

Question ID : 99836742645
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Q.14 Which of the following subjects can be categorized under sciences with social implications?
Ans X 1 Ethics

x 2. Political science
X 3. Psychology

J 4. Geography
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